N7 "7 DN R, 7P .7"02

Is it not so, that — P9IWD 9957 TIBR PITTR ININDT 23 DY N INY
even though their intent is to damage, nevertheless they are exempt!

OVERVIEW

The X713 asks that it is not necessary for the 7710 to teach us the 21°171 of 77p, for it
can be derived through a 1"'p from 1w (if 7w [which is P1% W02 PX] is 21, then
certainly 17 [which is P12 1n1115] should be 2>11). The X3 refutes this 1"'p, for we
can say that 17 is similar to 72X 72¥ who are 709 even though 5179 )0 (and
therefore the 770 must write 772). WX 27 responded that this refutation is incorrect,
for by 7R 72¥ there is a 727 Xnyw why they are 709, namely 127 110°3p° XWw, which
1s inapplicable by 17p. We cannot compare the two. mdoIn will discuss various
difficulties inherent in this X77a.

mooIn asks on the initial comparison to XY 72V:
- *annnny we Z9139M Y 999 N9 NNPNY TaY NINN ON)

And if you will say; let us derive by 72y and 7R themselves, that the owner is
21, through a v''p from w? -

- 399902999 RPYT NNPYY Y15 XY SNINT )19
Since the X723 did not know as of yet the reason of ‘perhaps his master will
antagonize him’.

mooin asks an additional question:
= (rn19) Y1 NIVNT PRINNT XYW Y197 1190 AYUP NI

And there is an additional difficulty; since the questioner knew the beginning

of this 71w in 2375 NooR (Moon will now prove that he knew of the mawn) -
- NOYD Y5 NNNDN 19 ON *AUNR) 738 0PI KDY NN T2y VPITN

for he mentions 72X 72 and does not mention 72N, It is therefore assumable
that the questioner knew the end of the n1wn, which explains why 72K 72V are MwD; the same

" This seems to be a regular 2.

2If by 1w where it is ?°17% WM PR, nevertheless it is 2>, then by nnXY 72y, where it is °172 1IM3, he should
certainly be 211.

? The questioner here does not argue the logic that P77 123 is a cause for 21m; rather he has a v (which refutes
the 1"p), that by 7K1 72¥ even though it is p>r2 WD, nevertheless it is 7wo. What is the basis for assuming that by
7R 72 the master is M. There is no P05 that exempts 72X 72¥ from payment. How did the jwpn understand this,
since he agrees to the logic that p>1177 10N> is a reason 2115?!

* If the awpn would have known the 7127 Xnyv of 1w 3> ¥nw, he would have not brought 7nXy 72v as a 1°21; for
obviously this 7127 X1yv is not applicable by 17p.

> See previous *7n 1"7 'O
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explanation that the X7n3 states here, namely 127 103> X»w. How can he ask from 7% 729, since
there is a special reason there (which is not applicable by 17p), as "wX 27 subsequently points out?!

mooin asks another question:
= 9519919 N1 19 ON) 909 ) PITAY INIMND PRYI NNNI TayT AYP N

And there is another difficulty; for by 778y 72» they are also 9"w® when there is
no intention to cause damage; so why does he bring 7»x1 72y into the picture. Their
T is not dependent on 21777 1IND or not; they are always M. The X3 is attempting to refute
the 1"p (from 12) and prove (from mnKY 72v) that p°17% 1IN3 is not a cause for 21’17 (as opposed to

P12 11D X which may be a cause for 21m). This cannot be derived from Saxy T2y (for they are
Mo in all cases).

In summation; Mo01n asks three questions: 1) How did the 7wpn understand why 72X 72y are w9
(since presumably he was not aware of the 727 &n¥v), 2) Why indeed was the jwpn not aware of the
727 XYY (since it is in the same 71wn as the 177 of 72X 72v), and 3) AnRY 72¥ are always 7wd (whether
M2 or 7132 X7Ww) how does it relate to us where we insist that only 71311152 should be w5?!

N1B0IN answers:
- 7139 13109395 XYY RAYDL NWPNRN Y15 1IN PAYT 9 Y

And you can say; that indeed the questioner knew of the reason 139 111%p> X»w -
- D505 1NN PRI IPAN) 199109 NNRNRY TaPT 1153 7599 591 1959N)

But nevertheless he challenges (the 1"p), for since an 7%8Y 72 are always "wD;

even when there is no intent to cause damage -
= NI DINT 129 1DVP? NAYT NAYL 7Y K97 2) Y 9N)

And even though (in a case where P>1777 1N PX) the reason of 127 1wy RPW is

not applicable, for the 72X 72V did it accidentally; nevertheless we maintain that the

owner is Mvd. The reason why the owner is MWD even when P>1777 10D PR s -
- “q0an 09 ININDY N¥MI 123 D92 99209 79D 19NN RY 199N 1ININT DINYSY

Because occasionally the 7nX1 72y have intent to damage (for their owner
antagonized them), and they will claim we had no intent (to make sure that the
master pays); therefore they are =19 in any event. It turns out that their intent
causes the exemption in all cases, whether or not there was 2. Therefore once we see by 72

® We see that 1w which is P°137 W02 PR is 21 as opposed to 7R 72y who are 715,

7 mpoIn presumed this in question # 2.

¥ Once mooIn assumes that the 1wpn knew the 7121 Xnwv, there is then a greater question; how can we compare T2y
7R (where there is a 727 8nyv) to 7P (where that o¥v does not exist). N1901N addresses this.

 When there was 73113 by the 71X 72v, then obviously the master is 7102 because of the 13v°1p> ¥nw; and even if there
was no 1am3, he is still 7o, for if he would be 211 by 7152 85w, then the 72y would be 711132 11 and claim it was
7IM22 KW in order to be 2nn the master who antagonized him. The cause of MW by 7152 R7W is the concern of
713. See (however) following footnote # 10.
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7R that even in a case where there is no 727 X2vw (by °17% 1M PX) there is still a Mwd, based on
the cause of P 112 1aN; this teaches us that P17% NI causes a D even when there is no 727 XnyY -
= 99910999 939 W H2TNY INNAY 197 M) XN

So here too by 377, where his intent is to damage, we should also exempt the
owner (even though there is no 727 XY, as long as it is P12 NI, just like by maxy 7av)."!

The three questions of MooIn are answered. The first two questions fall aside since the jwpn is
aware of the 727 Xnyv. The third question (of MooIN) forms the basis of the Jwpn. MR 72V are
always 7195 even when there is no 727 RXnyv. The reason for this is because of the concern of
P17 1. This proves that 2179 10D causes a MWD even when there is no direct 727 Xnyv; the
same should apply by 17p.

modoIn explains the refutation of the questioner:
129 RNV XN P3TNY ININD PRI ITIANT WIS YUN 29

And "X 21 explained that even by 177 111> 18 there is sufficient cause to
exempt the owner. We are concerned that even though they claim that it was 1711192 Xow, but there
is always the concern that it was 77111132 and there is the 727 Xnyv.

SUMMARY

The Jwpn was aware of the 727 Xnvv. This Mo of 72V extends even to 71132 XYW,
where there 1s no 7127 X»yv; but there is the concern of 71113. This proves that 7113
causes the 7o, WX 27 maintains that the 727 X»YY causes the Mwvo.

THINKING IT OVER

What is the essential difference between the Twpn of 121 3" ¥R 5 7781 72y and WX 277"

"9 If 1 13 is a cause for 2vn, it would seem irrational that by 722 X9w XY 72v (where they should be 27n
[since there is no overt 71271 R1wY]), they are WD on account of 73! See a"7nn. The "0 adds that if P>17% NMd is a
cause for 21°17, then 1m>nn2 the owner should be X171 27n. It is only a 0°»21 NIpn based on 1v°1P° RM¥W that the owner
is 7wo. How can we then exempt the owner by 711192 X?W because of a wwn of 713, if 71113 itself is inherently 2>n?!
[It is a ®¥n1pn> xnpn!] However if we maintain that by 711> the owner is X 75 (for he is an DIX), then we can
understand the n1"pn to extend the 17 even by 711152 X2, out of concern that he may do it 711132 and claim it was K7W
711152 (on account of 111> XAW). This proves that P°177 WnIN3 is a cause for 7w, on account of d1K; the owner could
not control him (and not because of 110°1p> Xnw; it is understood that an 72v can damage 71132 because he is angry at
the 171, not at his master. [The M2 of 13> ®AW is for when he claims it was 71192 X5 and we are concerned that it is
732 because 121 °3p1]). The same should apply to 17p (that the owner is considered an 01K since it is 177 1NIN2).

" However by 1w where there cannot be any 712 10103 it is always 271

2 Bven if P°1777 I3 is a cause for 211 (and X177 the master should be 2°17), nevertheless, on account of V1> RAW,
the concern is so strong that the 72y will always do it 7122 and claim it was 7Im22 X5, in order to obligate his
master. It is more than a mere concern; it is closer to a certainty. There is no other choice but to institute this (one)
mIpn that the master is always 15 whether 711152 or 7192 XYW,

" See ¢ nIX 1" WL
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